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l. What kind of groups are generally more cohesive ?
(a) Large groups O) Scattered groups
(c) Racial groups 

^_ 
(d) 

" 
Smaller groups

lolH l{dtnf e HUiI )2AH 3iI'3 Tf,v{re'r le|{6 W d6

2. Personal preferences and tastes developed in childhood are often evaluated in(a) Laterchildhood (b) Adulthood(c) Older adolescence (d) Old aee
Eflf6 f<g ffiJ derryi reDra+ars 3-diifdr )1tJ F€rei er i|6r-{e }tdFd iiEr t

(a) € ryo
(c) H.{a|3

ugrl-6 Hdrd
)?fs;RfA eT Ffdrt{t:t f€tI

(a) ti€rq Hrq6r B
(c) fu' '3 9s e,,r{ d

(a) l00mgdFa
(c) e-r'fe€r

(b) fiat r=ro
(d) i2nro

(b) s.ffiRrsFs
(d) Eqalf€

(b) !-r@aTnfsdna
(d) ars€3t!-d'EE 8

(b) f$s'a
(d) 100Hf6*tr

O) qdd6 rt#HtH-e'A
(d) ffif3arerfrsldao;'

(b) 27"C
(d) 29"C
2

(a)

(c)

3. What has athacted the economists towards sports these days ?(a) The media O) Growth of sports industry
(c) .. High stakes on athl-etes - (d) Cut-throat competition 

-

xffi6 D1-gqgrg3fia1i 6 }5i €6 ffi hf'adg 
"fl-J, 

i

4. The ICC and the National Cricket Boards are almost solely interested in
lll lking the game beyond the geogra.phicar boundariei of common wealth countries.(D' ptaylng pottncs ot economrcs.
(c) TV coverage and the money cricket brinss in.(d) Keeping interests of the players foremost in mind.
D{€ fr Ht }?{3 d.g-efr q--dz fufr 3-d-Ss6 lr$ a fud6
(a) l.a d ilrdaus il S,?{r rie i rr.e E d sr Fs
O) Drsex FJd fr d.ffftS trE f<d
(c) fq*e gro fsr?tr} Fti qa rod zt**et-* Fs
(d) fi€rfr),{i A fu d fuH.dr fft Lic iiuE f*s

5. Which of the. following event is not stated in HEpTATHLON (for women) ?(a) l00mhurdle O) Highjump(c) Javelin throw adi lOd ri sorint
to' fJfr?{t fYi' ff,trr' S* seprerHr,<iN t+s-+ ubl fEs fd-rd Ftr t

6. Everywhere and anytime the media is dictatins(a) what events to watch (b) -how we watch thern(c) how-we rernenlg thern - _ (d) us to perform all these three
ildt-fl ,rf3 TdFF )ftSvr{' i6id-d'A''
(a)

(c)
ffi f+e &ri us
fut hftrfd+q.edtrcrt

7. A:cordin^g^to rilg the temp€rature of water in the swimming pool should be around
-(") ?9la (b) 27"c(c) 20"c ao 2g"cd'b ? ldcnkr sr6 €'t i-fr f{s udt e''iqH.6 te's'-de't wran(a) 26"C
(c) '20oC
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What is the number of hurdle jump in steeple chase ?

(a) 24 (b) 26
(c) 28 (d) - 30
;ii5d' +J r+s rdr€Zi aridri er ffi ffi t
(a) 24
(c) 28

(a) l0mx l0m
(c) 13rnx13m

(a) ard$6
(c) 66efi6

(a) tisfodr]-du
(c) Eal:ntddudc

(a) ftffi
(c) +r

(b) 12mx 12m
(d) 16mx16m

(b)
(d)

26
30

9. Practice of and perfection in a motor or athletic skill is basically a function of
(a) trial and enor process O) insight process
(c) observation process (d) conditioning process

rae ;r"rre&Fad ins s uBrrm rr{it gH f€s frlig'U-dB is '3 am t
(a) hffrH'feF b{3 r-e6 Ufu'fum e' O) yf-s-d F6 {kFdtor e'
(c) rm€uufufulo{'u (d) )el6'=d?5-Jr{kfot{'s

10. The area ofperformance for floor exercise in gymnastic should be
(a) l0milom O) l2mxl2m
(c) l3mxl3m (4) l6m;< l6m
ihfi'Efta fds ili-SffidJ ? rre-sro 6fr E-rd€ +6'd'-d-e't

11. Which of the following elements is contained only in protein ?

(a) Carbon O) lvdrogenici Nitroeen (d) oxYgen

t6't feiJof-f€€ futrr' fJ fud-dqf6 ffs H'flrs fe't :

. (b) dd;F6
(d) )rrdH-tr6

12. The key component of health-related fitness is
(a) flexibility O)
ic) cardio-vascular endurance (d)

ms fiifi )d6-_du3r e'LiH xfrdrt

(a) 6€6r O)
(c) ffi 6'Sh{tfiroqsFd* (d)

13. Most personality test used in physical education are.
(.i 'lUecnanicit test Q) Physical performance test

i"i Manipulative test (d) Inventories

;d.d fif$rg f€ q-d3 se frfirerssf€r,aTf€< lftft{ir6

muscular strength
body composition

{fd,F fi}tflE-$
rfteegat

rfiea{wrauov
dslf6.€t

14. Strength is the basis of all movements which involve
(a) bones (b) nerve-s

ici ioints (d) muscles

# guy Frfrryt dr$hF er Dclrs fr t f*6'f€s HrHs ir6

(b)

(d)

O) 6'-Jt

(d) ua
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(c) Heat stroke (d) Heat loss
d frfudt f€ ffi ys6 fis6-4'gq s6;
(a) sRlfsffid
(c) 3ajasu*

o)
(d)

16. Men in motion is the focus of attention only in
(a) Kinesiology O)(c) Physical education (d)
d*fdr?r'€tfrftrrrs e'fu t frg€
(a) d* fefdrhra n'rrs Eg
(c) F+fldfrfi+nfiffs

Hepatitis is an infection of the
(a) stomach
(c) duodenum
tWa"kfa-snat:
(a) tas
(c) i6rHe'

15. Which of the following conditions are life-threatening ?
(a) Heat radiation O) Heat exhaustion

sarfigg
sn{ dlfi

Bio-mechanics
Vigorous recreation

#€-Haferqffr
V55 H6tFgr<r IFS

o)
(d)

o)
(d)

liver
kidney

lt. Good muscle tone is highly related to good
(a) Reflex time

(a) ttrtsfufuraroa-o
(c) fs-{6 ats 6ro

(a) fsnfurfr
(c) [|-3iit

O) firans
(d) qrd?e'

O) Movementtime

O) arSa'oau
(d) qfrqxaro am

O) 3'ffi
(d) std'affi

O) Aerobics
(d) Recreation

O) fiifu*ne'
(d) xF.iro e'

(c) Transmission time (d) Reaction time
Ha!firt. ditatfn-trJEasfHldrer trrr3t +a

19. Name the game which involves little 'large muscle activity'.(a) Shooting O) Taekwondo
(c) Chess (d) Archery
ts e'a'x fr frx ffr ')rrfud Hm)fr fribl{" uiz H't{s a

20. Virtually, physical education is an active form of(a) Exercise
(c) Sport
FdTdfrnirrrrfuzui
(a) dFiE gr

(c) tse'
21. The Indian Olympic Association was formed in(a) 1927 . (b) r9s2

(c) _ tsl? (d) re47
s.f,j} ednfd )iu{ e, fusn e q}s, fdr}?r # -

(a) 1927Es
(c) l937fs

Pepcr-If (Phydcrl Ed!6tion)
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,:r. The human heart is about the size of a/an
(a) Average size apple O) Hen's egg
(c) Man's closed fist (d) Big almond
fO+fs6 6dfiIfsa )fldrs e' iier a
(a) &*ns Dld.de'ia (b) Ucfre'ryta'
(c) )rlafrAriELfe (d) fua€s'ue'x

23. The quality of life is directly related to
(a) The state ofone's health O) One's nutitional status
(c) Individual's mind set (d) Fulfillment of needs
fi-i6 S UE+s' aiu gu rru friq t :

(a) ffi f<rda-S$fu€Snffi a'o61 fr ffi ?tra*issi am
(c) faara**Frsrs'r.s (d) SEi*{3FAFo

24. Name the component of physical fitness that is, more or lcsq genetically determined.
(a) Flexibility (b) Speed

G)^ ShenCth - - -(d) Body composition
F-6Td l0f6iru:rr i reia et 6rH €fr fFdJ'fr t?r6€Hd qq 5rg ffgq'dJ irs t
(a) sCtdt

(c) Es

25. There is no muscle confaction during

o) dFs
(d) rfrearess

(a) Isotonic wortouts O) Ballistic exercises
(c) Isomefiic exwises (d) lsokinetic bursts
EF +d.6 HrFDfr,{t e' f1Tf,6 r-fi ile'i:
(a) )?{ritFzrkarfir O) ErfiFrfzadn-€i+drd
(c) ryretFzrftEdF€r (d) ry'SFad*fatat

26. Which of the following don't constitute aercbics ?
(a) Rhythmic exercises O) Cycling
(c) Calisthenics (d) Yogicpractices
ta frBryi H' idg i€s frAfodF F fi{6 fifi ii*
(a) 36llrdardJ O) n'eidfira
(c) udares (d) .frdl ,rfevrtr

27 . Philosophy of phpical education is said to be
(a) Eloctive O) Eclectic
(c) Selective (d) Imperative
F+ild fifi+rrr fTffi A

(a) H O) fittr€'fu3
(c) ed6BfHa (d) rorts-DrreFd

2t. The efrect of sports and raining varies with the
(a) Weathcr and season @) Stage of maturation
(c) Peoples and places (d) Child's oducability
}5t xti fru6'e1 er \5gr€ ufoe-sBs rle't
(a) @)rr3*nram O) uffliTJ'?tcor.s
(c) iH')ldgqr6i6rs (d) gefifrfiflt'dars'?t'6
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29. A p€rson's posture is most influenced by his
(a) Movement habits (b) Home environment
(c) Life style (d) Nutritional status

fid f€l?{a-SfiFd-ild Eeir FEr i" frh{ngr qae-* ilfr t gr?
(a) frwferdn{r}rt'sJt+ 0) UIAuH'iEJ
(c) ntg6ffii (d) tg"c-trd+

30. What holds key position for weight control ?
(a) Recreational sport O) Physical activity
(c) Dieting (d) Eating habits
a.o f6rfuc6 Fs tiv scs' @ Unls t
(a) Hdtlinrea trJ O) Fd-ddfutdy{'
(c) yon frr ' (d) urE lofiett

31. How many times do our kidneys filter blood in the body each hour ?

(a) fua e.s
(c) f*; e.s

32. Rabbis is an active highly fatal infection ofthe
(a) cerebrum
(c) spinal cord
ffifr Ed IR:t ur:tol lid-dlfd i
(a) IeHrdI g
(c) fsfiii*s

(a) Once
(c) Thrice
HB qrde F&d ffr yo d .ru lfr2 frt& E"s Ue} ua r

(b) Twice
(d) Four times

(b) i e.s
(d) gtB €'it

O) autonomic nervous system
(d) cenhal nervous system

O) x?srs6'Fq*qe'
(d) iefrargtoe'

(b) rysfrifua
(d) D{"str€}bd

33. Physical exercise done in the preserrce ofoxygen is called
(a) Aerobic O) Anaerobic
(c) Isometric (d) lsokinetic
)?flaFrffi ei' ue r€-s ffi tra e"6r F-dr(rd ar€ ildwer a
(a) frpffi4163
(c) rydfttrea

34. There is a possibility for a AIDS's patient to live for a few
(a) hours O) days
(c) months (d) years

k -rfi r++n d f€E A fsq6r dfi ? as
(b) tu6
(d) H,?6

35. The length oftrachea (windpipe) in an adult person is about
(a) 20 crn O) 15 cm

(a) tffZ

(c) )f&B

(c) l0 crn (d) 5 crn
ffa a'6"r fgar.6 ffr Hrd 6rd frrffi iid i s-ag-dr

(a) 20 cm
(c) l0 crn

P.pcr-U ChyCc.l Ed.c.don)

(b) 15 cm
(d) 5cm
6 B



The number of muscle-pairs, found in the human body is
(a) 200 O) 2s0
(c) 300 (d) 3s0
r6fr Ffrd f€ rJ€ fi )rrniifrDr i rftrrr S ffi t
(a) 2N
(c) 300

o) 2s0
(d) 3so

37. Which of the following are involved in injuries called 'sprains" ?
(a) Bones O) Tendons
(c) Ligaments (d) Blood vessels
'rts' d-tee ed frz f€s b fufu,x' f€+ * H'flt6 ite't

ln India. the school health services started in
(a) 1949 O) 1909
(c) 1962 (d) 1968
s.cr ffsF{6 fros H frrorcd*a|*fr

(a) d+ntt
(c) 

'i-dd 
ig

(a) l949Fs
(c) le62 frs

(a) Ffiisg
(c) xe-ges+ta

(a) n*qffi-a
(c) *otffi

(a) dg
(c) UrftIr

(b) tE
(d) 5cfirn awit

(b) le0efYs
(d) 1968 fais

O) xftqffiw
(d) tizla-z6st-&r

€6'-erg fH'{tt€i
@'3 fx'r6t's

O) B'Sf€dr
(d) ffr,rdrFfrd

39. The contractile elements of the muscles fibers are calld
(a) Spindles (b) Myofibrils
(c) Myofilaments (d) Contractile proteins
Hrymfrryi e efur?{i i fafuJ yfx ro€i tm

Which of the following kind oftraining is considered excellent for bringing about body
conditioning ?
(a) Interval training O) Circuit training
(c) Weieht trainine (d) Hipfr altitude training
;rfhd lra -;6-i' fuFc 6S rdt frfJrrt'f€F ffi s-g'A fi{Ys'81-rc+sH ffi t'fr t r
(a) Hfo)rt-d fm{6ts
(c) srdfr{g€

41. Dislocations occur most commonly in such Sport as
(a) Cycling O) Diving
(c) Arctrery (d) -Gymnastics
rt$ s feseafis ),{ftfiDit-J' lEe nsi ner t:

o)
(d)

Complex carbohydrates are not found in
(a) Fruits (b) Rice
(c) Pasta (d) Breads

FFag ardffiez fegf+J rfr fl{6i
(b) drE6
(d) q6

B Prper-Il (Physlcel Educ.dotr)



43. The saddle joint in the human body is in the
(a) Toe of the foot O) Little finger
(c) Wrist (d) Thumb

fufrn-d-df€sadfua
(a) fdrs)rr3+d O) ;ABffi
(c) as's (d) 4dr6'

4. Hlryerextansion occurs when the extension is beyond
(a) 60degree (b) 9Odegree
(c) 120 degree (d) 180 degr€e

*ro UE.< gE iiE i *i t1s.6 1,
(a) ooffiiuro O) sofrdrfriurd
(c) r2oBarfr+rl'd (d) lsoBdr$iurd

45. Newton's laws of motion better exemplifr
(a) Kinetics O) Kinematics
(c) Kinesthetic (d) Kinesis
fis*aa s ar$ e'ftqH fE-drd *e'crc ts *eg't
fui ar* f<fdlv,{'6 O) dr$ fffi
(c) feffifafi (d) ffi-frnd

46. Name the tlpes of muscles which contract when the body is in motion.
(a) Neutralizers O) Antagonists
(c) Stabilizers (d) Agonists
HrFDftdr * Qr fam+ e' r' ii' firtr;frryr iTF F+d a1-$ f€ EgT t s' fffi f,td,,{. T6
(a) fircriq O) f€id
(c) Ffrddrs€rd)r{t (d) H.6fua

47, In terms ofbiomechanics, gravity is what causes our
(a) wei$t O) stability
(c) Equilibrium (d) Volume
fi-€ H&kdH i Ha-dr f<-d DaEkrFs Fd-S& t i H'e
(a) srs er drr6 t o) Fkd e' a.ea t
(c) ri-s6gd.{6 1 (d) arfrs6grdrd6}

4t. The class one lever is built for
(a) Speed O) Equilibrium
(c) Strength (d) Rangeof motion
fd-k51=ugErfeltrfrw i
(a) a'*d O) f-rffid
(c) s6d (d) s'gaf€Fs.dEffi

49, Ifthe tennis sboke is a "cuf'or a chop, the ball will
(a) Ihop O) Bounce
(c) Spin (d) Rebound
*ffi ?f6F siea 'aa' m '€u' t, a'6
(a) f5ffi O) @-dfr
(c) rfffi (d) du'u,L1

Prpcr-II (Phydcd Edurrtl,on) E



50. Lnrdosis can be found in
(a) Infants and children (b) Adult men and women
(c) Old people (d) All age groups
ffifFH Urft%r tr Fde'T a
(a) a'Erla.f3dfg)rfrf€g O) Er6a'{rEr+h{r}rf}fu ffr
(c) Eilrdrtrfds (d) Tdgrsiifuf€

51. The running at slow spoed, the contact of the foot usod is
(a) Partial O) Complete
(c) Abseirt (d) Undetemfned
ftfr d'+ B er6 '3 w5'f€ to s fc-r6
(a) xfn-dA O) fyd6A
(c) dea (d) )rrftFfu'A

52. Most muscl€s that move the hip joint originate from the
(a) AMomen O) Spinal column
(c) Sacrum (d) Pelvis
frh{'"r3o l{rgnfr}r{i i m'gB i rs 6 fim _€ft,r' dr6. Eg fiftF ua
(a) !-ef+d O) firdd-Siawx€S
(c) D-a t fird u't S d* f€+ (d) M€F f€'

53. Our hands generally get contaminated with
(a) bacteria O) soil and dirt
(c) grease and oil (d) chemicals
Hr} ds)rrrriidS gfirsi re u6
(a) Hfinra.o O) fii8,{3tffia'o
(c) afrnu}3ua'o (d) drfr-cr5'6

54. Another name effleurage massage is
(a) Pressurizing O) Bunting
(c) Slicing (d) Stnoking
Ig€e}fiFI HF iI er dd dtl{ iI
(a) qqd"sfifidr O) ffidr
(c) ITg€tfitdr (d) Hafel

55. Technically speaking, friction is similar to
(a) Hacking O) Rolling
(c) 

^ 
Stroking . (d) Thumbing

ST6TAT 3tH' T€tI. ift'El F}F-6 O

(a) dta,+rt O) fd-{-6e
(c) uffi-aa (O g8''rfi

56. Flexion takes place around
(a) ball & socka joint O) synovial joint
(.) hingejoint (d) glidingjoint
I&Dr{ ltgr d:
(a) a's ra naz fu gD{rB O) fiTBAvxE +J g}trB
(c) fiiil+Jglr{'B (d) alud€dr*Jg}trre
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37. Bile is stored in
(a) spleen O) kidney
(c) skin (d) gall bladder
setdtfif de't
(a) f*dftd O) ilde fe-s
(c) slr$ffs (d) nl3 f{s

5t. Which of the following eatables are enemies of teeth ?

(a) Bakeryproducts (b) Nuts & fruits
(c) Bony meat (d) Chewing gums & chocolates
d fdfJryr f€i' ffi v.e*a rrsoe fu t gFlE T6
(a) ffi{e.ds O) *?nr3ao
(c) d-$e'ofte (d) sF€drxhrlsqM

59. A forward upwards movement of the foot at the ankle joint is
(a) Planter flexion O) Dorsi flexion
(c) lnversion (d) Eversion
ld i fdZ ? Fr '3 rytffi-glre 

"6 
aitars A

(a) irysqdqze O) fif6fi}e.
(c) gd (d) rr6eEr

60. For strength dominating sportod, the diet should be rich in
(a)' carbohydrates O) vitamins
(c) minerals (d) protein
E6 Wr6 H' f€, ire aeyo ts' s.ee' A

(a) a'effiizFg O) ffi{6ffr
(c) ttffiffr (d) {A6f€

61. In case of sprain the immediate treatment recommended is
(a) hydrotherapy O) cryotherapy
(c) - heat-therapy " 

(g) None ofthe above
fr.s i d.6r3 f€, fiTd,fdg *g ne, 96= fton t:
(a) tuf€f*:lr O) q'fu€ee11

r (c) sajfukrF (d) grri-d-ra$6-tr
I -'

62. The term dead ball is used in
(a) handball (b) tennis
(c) tablet€nnis (d) cricket
ftrE .3g ar6= Tdg)rfl t€r A

(a) +:a'6f€s 0) af6nf+d
(c) :86 ?f6H f€s (d) f{dz f€-s

63. Who among the following declare the Olympic Games closed ?
(a) Chairman I.O.C O) President I.O.C
(c) Secretary l.O.C (d) Prime Minister of the Country
T6t rsrJ}r{t i€udE E6'tlrd u3t ii HHnj-Jr er rrrre'aeg'?
(a) Ioc er Alrrdltd 0) Ioc er tfr*z
(c) IOC er Hdsd (d) tn e' go'a fr$

Prpcr-[ (Phyrlcd Educrdon) 10
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g. In which year were the Ancient Olympic Garnes barmed ?

(a) 396 A.D O) 3e4 A.D
(c) 296 A.D (d) 334 A.D
ird'sd €6-nrd H l uqifr fdr F 6 frs ti-dfr Ft
(a) 396 A.D (b) 3e4 A.D
(c) 2s6 A.D (d) 334 A.D

65. The word 'Athlete' originated in
(a) Rome O) Greece
(c) China (d) India
Dre6tcFeSg$r$ffifr
(a) +Hf+u O) dixf€s
(c) ficffd (d) s.d-JlYd

6. In which Olympics did women participate for the first time ?
(a) 1896 Athens O) 1900 Paris
(c) 1920 Antwerp (d) none ofthe above
ffi,rr efrnra H f€s,fu A uffi Erd srdr fprfr fi
(a) l8e; gr6t O) leoo tfdr
(c) tqzoftz+du (d) S{+€d$6-fi

67. Height of the Volleyball net for women is
(a) 2.21 mts (b) 2.22 mts
(c) 2.25mts (d) 2.26mts
HMdeduqE*2frffi}:
(a) 2.2lmts O) 2.22mts
(c) 2.25mts (d) 2.26mts

68. In weightlifting competition the increase in weight bet'ween two att€mpts must not be less
than
(a) 2.5ks O) 5 ke
(c) l0 ke (d) 2ks
B'g d-dE iiidfrr: Fs i wf,6i f{da.d s.g f-d +q'fsi'uiz Ffr d€' u'd-e'A
(a) 2.5 kg (b) s kg
(c) l0 kg (d) 2ke

69. To take penalty stoke in Hockey any skill can be used except
(a) push O) flick
(c) scoop (d) hit
o'lt t+ de6-A Eeda #c 68. ffi gge'- ffi' + T{&d e' Ufrdr *r' l' rae, t
(a) q6r€' (b) sadr
(c) Hrd-ai.z (d) Hrr6r

70. 'Roverse Cup' is associated with the game of
(a) Football (b) VolleYball
(c) Hockev (d) Kabaddi
'TEfietu'istrs6lsff[3f
(a) E"Ar6 (b) eds.6
(c) d'fr (d) dti#

B 1l PrPcr-lI (PhYricd Educrdon)



71. Which of the following Universities won the MAKA Trophy for the maximum number of

(c) Guru Nanak Dev University (d) Calicut University
d frBvNt f<J ffi gffi t"rriqld adr* Fs * tq e-d fii$ t
(a) fffigffi O) ffigffi
(c) dqdrdafegffi (d) a'dazgffi

72. How many times has India won the Hockey gold medal in Olympics ?

srdJ t ftinrd H ffr dd iira ilar frtS e's fffl?)t' a

times ?
(a) Punjab University

(a) 7 times
(c) 6 times

(a) 7erd
(c) 6 EkI

(a) vrf'Had}'F

(c) grtEl

(a) one meter
(c) three meters

Edg'R frs)rAa fu'Aisd 6'8'sS t
(a) &tfl-sd
(c) fUbftao

O) Delhi University

(b) 8 times
(d) 9 times

8 €ril
9 ekt

O) ffid
(d) fcgfrtts

(b) two met6s
(d) five meters

O) i)ft-d
(d) flH}fted

O) macro cycle
(d) None ofthe above

O) frHryrfio
(d) €und-rA$rfi

(b) Football
(d) Basketball

(b) G:ar6
(d) ErFazEr6

t2

o)
(d)

73. Which country won the final of ICC World Cup 2015 ?
(a) Australia (b) England
(c) India (d) New Zealand
Icc frr€ du 2ols fuF tF t ffrfsyr'fr

74. In Volleyball, the distance ofthe attack line from centre line is

75. Shortest naining cycle in a sports is known as

(a) micro cycle
(c) meso cycle
fua *s ffs FE f ;a aft+dr tra-d d-d'Se' A
(a) FcHg{d
(c) )frFd{d

76. In which game pressure training method was first used ?
(a) Hockey
(c) Vollyball

(a) u'S
(c) <dEg

Prpcr-[ (Pbydcrl Edrc.don)
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o)
(d)

o)
(d)

o)
(d)

(b)
(d)

I zs.
I

I
\
t
t
I
I

77. Which of the following is animal fat ?
(a) Egg (b)

5**H#*ffia'a-gser$t 
(d)

(a) uis,
(c) fia
The major function of insulin is to
(a) hansport food stuff
(c) regulate blood sugar
ffi6 €'Hc dH A
(a) gFI6 Lf€r€EIr gr <Ii|6 aiF
(c) Ed-J Fdrd f faires a-car

Sports top form depends on
(a) haining
(c) diet
q-J' e1 qs aqr fe-ess a-s6 i :

(a) aftidr'3 O)
(c) nFo.s'i (d)

Which factors affect pace ofrecovery ?

(a) Nature of load O)
(c) Sleep (d)
),rrim * ars 6 ffi fJ qsr€ dde Td

Almod
Milk

E€fH
gq

keep blood thin
convert glucose into glpogen

5a f uau' dvet

il,6dr O am*aifi m fe uFdstrJs ils6'

psychological limic
equipnents

x|ffiitmfrHr€t'3
HriFr{r6 3

Health and physical fitness
All ofthe above

firdJlr{3 lr#rdfr*F
${idgH'e

(a) eE)t{A{ffi
(c) 6te

(e) *rg3.
(c) UIE!r

(a) ffi gs.{-€t
(c) #f{d-droct}dfdd'

(a) tufru'e'
(c) ffie'

O) rltrE-J6

(d) ttftilrd

O) amgdra<rsr
(d) €tg ctE

(b) tfci er
(d) Frdfinfie'
l3

o)
(d)

81. The factor which is not considerod as a component ofnaining load is
(a) intensity O) volune
(c) density (d) d!€t
*stfrF ii fu{gqfr A.g et fu'x'60T}iiafir f,r-et a

82. In most cases ofObesity, is the reason of
(a) eatingjunk food O) doing no excrcise
ici nibblirie betwc€n:rneds (d) excessive eating
tiatl e ff,)tr€r3-d 5;'gi fgs. a'fl€ t

33. The disease called conjunctivitis is a disease ofthe
(a) lungs A) eye 

-ici soleen (d) trachea
i#afutznaa€essearl:

B Prpcn'U Qfpi.rl Edrc.dn)
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t4. Where do the nails grow fiom in our body ?
(a) Muscle
(c) Skin
F3 F+d trs ej fde @ na
(a) )trFDfl)tt' i

.r, (c) srri+

(a) etdstg
(c) t88's

t6. Aim of sports training is
(a) Physical fitness
(c) Tactical efficiency
t-Jfrt{6'*E etnt
(a) rfieaHs
(c) E?tf_u-tr6*Fg

(a) 44 ftx20 ft
(c) 44frx 18 ft

(a) 2
(c) I

P.FFU ofydc.l Dducti,on)

i

S. Which of the following game does not provide time-out during play ?
(a) Volleyball O) Football

O) Bone
(d) Cartilage

O) d$)flt+
(d) nH6d*+

(b) qeEr6
(d) srFaz8ro

(b) Technical skill
(d) Alltheabove

O) T{&*AF.r
(d) qri€H€

O) 40ftx20ft
(d) fE-d6,f€s*S6d

/

I
I

(c) Handball (d) Basketballd fgfrlri f€i' ffi AH *r e ed'6 aSH u€z rSen a-& *eS

t7. The size ofthe badminton court in doubles is
(a) ,f4ftx2Oft O) 40ftx20ft
(c) .14 ft x 18 ft (d) None of these
trori i€H;aa *eae' vra.q ite't

tt. How many timeout are allowed in a football match ?
(a) 2 o)3
g"*t€"ffi asxu,*e iii ua (d) None

(b) 3
(d) dAF&

E9. Principles ofoverloading is that(a) Inad should be maximurn (b) Accordinc to the capacitv of athlae
l") .l*"d should be more than optimal (d) Rccordin! to the tcfry wbgtrt
g€ilgr3itT gr trTrlr:t a rc[
(a) grox{fotrJH+€'s'+E t Ol D{s#c$m{ds'rys,siie't
(c) ugr*xa'B'€o g'd+€'drfrg t tal rfrs gd ? alOx-o iF t

90. Accordingto principle of specificity ofload a cyclist should do
(") weight training O) cycling(c, lrtyometnc (d) hish altitude hainins
gra f ffisr+ i fu3 r_sno fila H'e1"t6 €r6a 6 s.eE t -
(a) s€frusr$ O) Fdtduss€tsr
(c) tts'ffiiiHea (d) F-rrrdgipfu#'*

B



91. Smashing in volleyball is also known as
. (a) lifting O) sprkins

(c) servicing- (d) blocking

"FiE6 
r-d HIH fu ei d-ur*er A

92, Which of the fotlowing philosophies of physical education is known as Experimentation ?
(a) Existentialism O) Realism

(a) fircF€al
(c) Fdefiidr

(a) )2fHk{€"€
(c) fgEosee

(a) lse4fHs
(c) 776 B.c fYs

(a) IltBrd
(c) ErgU-E

Tiger Woods is relatod
(a) billiards
(c) golf
zlEtdrd is rifq-J a
(a) ffiry-esats
(c) drraa's
Lack of fitness can cause
(a) loss of fluid
(c) muscle cramps
ffiFAdr+d-ddir*e'il
(a) {€*a}fr
(c) untmryr Er )4GFTt?f

lo Asian Cames were held at
(a) New Delhi
(c) Lahore
ufdd g*1116 H i$,flr F6
(a) a-Sffif<E
(c) 6+ge

O) ru.effina
(d) Edft*dl

O) ,rfFg <rE
(d) ffiTJ€rE

O) lse6Fd
(d) le521tss

O) Adolescence

O) frFary-ere'
(d) F€'?S

O) riBam
(d) r*$r s's

O) loss of weight
(d) sleeplessness

o) srouredl
(d) ttf#sd'

Bangkok
Beijing

*d-d f€t
Stf,ar f€8

(c) Pragnatism (d) Eclecticism
Fd€d frfi{brrA d trfsy}.r, fr€'ffi ffi{*'dr d-d'SS}

93. Intemational Olympic Committee was formed in
(a) 1894 o) r8e6

R#**ak*e,*orun[? te52

94. The fastest period of growth in human beings is
(a) Childhood
(c) Infancy (d) Puberty
)t?_iqr fufsa's s rgilaasa

O) polo
(d) chess

97.

B

(b)
(d)

o)
(d)
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2016 Olympic Games will be held at
(a) New York
(c) Seoul
2016 €rifiJ"r H iafrtti
(a) ft€q-d-dH
(c) f{euH
N.LS was established in
(a) 1957
(c) 1962
NIs A Hqerdr idt fr
(a) 1957Fs
(c) 1962€s

100. All India Council of Sports was formed in
(a) 1954

(a) l9s4Fs
(c) 1952Fs

(a) S.A.I
(c) I.O.c

(a) u;I
(c) htfqt?tnfd ftid-J'

Prper-U (Pbyrlcrl Educrtion)

% J3i1 qrgfrs 416 rriezx e,.".t$b;t#

O) Athens
(d) Rio de Janerio

l96l
l96/.

o)
(d)

o)
(d)

99.

gFffiE
fde*ffd€ R

O) le6l ffs
(d) le64fYs

(b) le53

l0l. The body which controls participation of India in Olympic Games is

(a) S.A.I o) I.o.A

O) le53 f€s
(d) lesl f:?

(b) PsychologicaltendencY
(d) PhilosophicalconcePt

(b) xBfefrmr.a{ffit
(d) e'Togk qrtrdt t

O) fFdaH
(d) fis-duE

16

g- l*$ ffnrd *' t+s s,'ilr n rs#b $#*[' "* t'(b) I.o.A
(d) A.A.F.I

lll2. In Russia terminology physical education is better known as

(a) Kinesiology (b) Physical culture
(ci Movernent education (d) Physical training

ilx t+g HE€'€d FdEa frfutttr 2i qrfuafl srer f,;

iul ffiffi O) ffiasanrss
G) 1r€trel@Ha (d) ffiduaftidr

f03. Physical activity is basically a
(a) Social atbibute
(c) Bioloeicalnecessity
irfi-dd fdfidh{'Uu +d 3 fud
(a) FHrraEBt
(c) etef<furd'a8-st

104. Which one of the following is no major domain of physical education ?

(a) Research O) Instruction
ici Teachinsskill (d) lnsPection

ti ffi'{t f€E fu€'' Fd-rd frfu}'{'u 4i ar-c*}ro a-& i

B
a
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105. The eadiest tenn used for management was
(a) aitninistsation
(c) coordination (d) direc{ion

fuftm us m + uFff qfr-a *+ l.e <'tr' rre 3
(a) {FF6 (b) fd?56

(c) fi{Frr; (d) fex'fitden

106. The faclors affecting physical fitness are

O) orgianization

l0?. What of the following playing surfaces is easy to maintain ?

(a) Concrete O) Natural

(a) Anatomical fac'tors O)
(c) Psychological faclors (d)

rda arO-g,rs' { r5er<s rea <6 3s ird :

(a) rdeaaegsfj
(c) t+BFfm{rafs

S#*ffikle'6*r"*$}n #$f"

o)
(d)

o)
(d)

(a)

(c)

Physiological facton
All of the above

Ffrild fdtor"itf,fr i3
&i+€ H'a

q-d-f$

trBk
d*A
uql ergt

lllt The total wort done in a haining session is tenn€d as

(a) Volume O) lnt€nsitY
(c) FrPoue,ncv (d) ' D€nsity

ih+s'S li56 fu *J' fdlt ' i5s dH d-d'fte' A
(a) frf'bJ'6 O)
(c) dTfJ' (d)

lltl. Who is the first person which explains the sensory method in sports ?

(a) Jorden (b) Best
(c) Smilh (d) Zaciorskiij
il# es f+ea ftdt S f€)?finildr a-es E"er um'fralasl+€ il t

O) *Fz
(d) ftfaarosk*

ln order to malre intrdtrural prcgrmme really interesting and wortrwhilg it would be ap to

(a) Induct new gquiPment

O) Build pernranent inftastsuctue
(c) lnveirt new fil/recreational games

(d) Infuse intense spirit in the porticipants

#d€'erf;€S,idrEt{d ns*tr Enr. t{g f€wFu }tB gfor E6'S€d' lmrad?ap
(a) dtte4a-o-
O) get$)rfq.d fdd6tetfudHr€
(c) F*)dt tra/ )r6uititt?a HS t*ildS
(d) g'dl &€ e'furt', f€g $so s'E6'er fsr ilf6t

Prper-It @hydcd Edoc.dor)
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l1l. The spechum of activity comp€tition at the elernentary lwel of education must be more
(a) formal O) informal
(c) neither formal nor informal (d) organized
fi{fii}r{'e ftdDd riq-d '3 d-+fufi U-d'd er fiffifrur }cr €r&er A ftrot-er

(a) f€d.trd O) ardf€d-dd
(c) 6rfssdrildryf a'fr4-dfs€-d-dd (d) rtdr63

112. Which game initially was called '.Mentonet', ?

(a) Badminton O) Basketball
(c) Baseball (d) Bull-fighting
ffi +J d 6;eu's f+u " l:ez" f*d. a-€" fi
(a) *Jnic6 O) a'r*aa'o
(c) nEE6 (d) g6d'*e

113. Which of the following activities may be difficult to teac,h in mass ?
(a) Gymnastics O) Set drills
(c) Drill & marchinC (d) yoga asana

to' trkrn f€i. ffi kfd,r{, d +r ffr rrs'S8,,fit{, i r*e, }
(a) frrtarnftd O) e-oarec'
(c) f{o}rrSltrdfiidr (O fi-amre

. ll4. Transition period aims at

(a) Stabilization of performance O) Super compensation
(c) Recovery (d) Recreation
ufd-€-d-J6 dFg er )ir€ t
(a) rfsdFddFk€' O) egTfiw
(c) tf,coqnr$ (O HE-+*-6

I 15. Acquisition of specialized sports skills lead the students to
(a) Perform movements skillfully
O) Become good players

(c) Develop into specialists
(d) Do things economically

f€frrc +r ftfe:Et fiUnr$fefeil's+d ol.gr aEqSt
(a) areettrF er ftf/;3' aa6 rleora *ea feu
O) fdrfirsdracfrs
(c) H.ftrdrt+d3ffi3iEf€
(d) iiu'd fd-dn a's.*es Fg

Peper-Il (Physlcrl Educedon) lt B
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ll5. The organ which produce insulin is
(a) Gall blader
(c) Pancreas
ffifirufffi6ire'ild-64
(a) flfg'
(c) u'Taetfr

ll7. Amphiarrhrosis is
(a) Freely movable joint
(c) lrnmovable ioint
fo+EDr'-ee+frF t
(a) Efusalrsfrg+r
(c) ffid-6;3

Liver
Pituitary gland

fflarg

feH'drffiitfr

Slightlymovable joint
Synovial joint

O) d-J'frd'dm6#siJ
(d) ffie'is

O) ft{rffddordti6
(d) ffif{id$Ffr

O) qu'sA*un
(d) +]-fr)rrn

o) Ea6
(d) a,*aeia

O) 2lVo-25o/o
(d) l5o/n2V/o

18 ilEr
l2 dlEr

o)
(d)

o)
(d)

o)
(d)

llt.

119.

The hormone that conhol the growth ofbody is called
(a) Thyroto'phic hormone O) Somatotrophic hormone(c) Gonadotroohic hormone (d) None of these
o't;F6 froE' fd ;rd-d ? f€-d'E O ffi aree' 4, dd'gE a
(a)

(c)
sffi6-dd'-df6
rMgaoqtts

(a) _ds$a.s
(c) ffifcHx

(a) lJEt
(c) ryateg&ara

(a) 3E/o-35o/o
(c) lV/vlSo/o

anaer,obic glycolysis ?
(a) 15 times
(c) 2l times
>lr4fra-6-aUfu fu ,rtted.6,)rf6.dfud
fd4{r€r €gsr *5fr#6 1

15 qr€r

21 qlEr

O) l8 times(O 12 times
dr6ttif6frFed6 f$ dS gdflr 5'd ftiB Ere'

The muscle involved in the flodon ofhip known as
(a) Hansting O) Quadrice'ps(c) Gastrocnemious (d) Trapezius
er8 i fuar)rf FJ rlrntg Frr{*m ilg Hd a

The main abundant single constituent of muscle is
(a) Water O) Protein
(c) - lnorqnic*salts ^ (d) Ca6otydrues
HrRnil ef l:616:IT 8ir:t Flrr{rer Hr3€r <r5r Ht{ Eureor iI

The percentage of myosin formd in the muscle is 50-55, percentage ofactin is
(a) 3W/o-35o/o O) 2$/c25o/o
(c) lV/o-li/o (4) l1o/e2ff/o
Hi+)fi fr;-d ue l€ Hfl€fud 6 rl-Srs i soss, u.*fu; S rl$H-i-r' A

122. How many tirnes, more energy is released during oxidation process, than released during

(b)
(d)

t9

(a)

(c)
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The temr 'leinforcenrent" is roughly synonynrous with the tenn
(a) Reward O) Award
(c) St!€nctheninq (d) Gain
nid'g-f€6 ffi' de gu Fe ftn xre-er d'n HHrdrdfr t
(a) ll-dFdrd
(c) Sft€ttF

(a) frdrdtAu.uaaffim
(c) ele} )?t3 x.oalfi

(a) qadnf
(c) €rs Elfr E'-Stflt

(a) e'ed?tax
(c) +*6

127. The syndesnrosis aro tlpes of
(a) Slightly movable joints

O) fs?t"{
(d) nrs

O) qlr$
(d) 6Fr

(b) *ftJ}a
(d) d'_6m6fu6

O) Freely movablc joints
(d) Disjoints

O) Ffusdn{6#6fu'
(d) d#Sllt

lfirirE

Where in the human body arc the free Or, hydrogen & nitsogen found ?

(a) Liver & pancreas O) Blood & intestine
(c) Lunss & bachea (d) Stomach & intestine
rt-n+ r+s t€a )r{qftta, d'fr{-f,d}re E"*-r6 F3tdffi u'i +i ue

o) 5ex3ur.a
(d) 0-e,r{3 ryrsd

In whidr of tbe following put of the cardiovasorlr qnien is lhe vdocity of blood is the lowes ?
(a) Arteries O) Arterioles
(c) Capillaries (d) Vein
ftfu rrrs ld Ve.e Te'd t d fEfuryt f+i fdrS fJi f€ yd e ed ftg€H t

I

Which of the following class of dnrgs is used medically to relive pain and anxiety ?
(a) Baftiturates O) Opiates
(c) Cocaine (d) Hallucinogen
H f€ft)?{t fEi *Ar* €Fsrxt * fuo:ti frS e +na sre }rtl ttffi + tr{S d
s€rei t is '3 iie'A

E

o)
(d)

20

:;.r-i . . ,

(c) Immovablc ioint
IFETH}ITHF TF6T gTdT I TXT UO'

(a) E} fi{A dtr6#5 i-r
(c) ar#&6i-;
The rnajor finction of the ligunent in the body is to
(a) Prevc'nt joint dislocation O) Roduce friction in the joint
(c) Act as levers (d) Coordination
Hifrd Fd'rt.FFtrz er )iv drd:fr t
(a) *'-si?f€Fqq6*Es.,rr O) fu fffif€sdur-c'gc'
(c) f*un$sf,*xarss (d) ss-*5ffi6'
Tunring tbe foot so that the sole faces outward is movement called
(a) Eversion O) Pronation(c) Inversion (d) Suoination
td 6 EF ri )iJ6t fu w' a'iF€.q fu di, ftn66 l?He -€d t
(a) r{Elrtf
(c) @rddE

Prpor-U (Phydcrl Ddrc.don)
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Much of the motor-skill leaming takes place during
(a) Pub€rty O) Infancy
(c) Childhood (d) Adolescence
lr-d-fslirJ, d ft)rr"EEd fx'{g€ fsg €-d.d itfr t
(a) HerS +dr6
(c) rerrs fr.6
The Achilles tendon is the tapering part
(a) Gluteus maximus (b) Gastrocnemious
(c) Quadriceps (d) Hamstring
HrgufrDn e' vli#6rs FJFS6'ffita

(b)

(d)

gr?qu-€ +d.6
ffi-s Dr€Fs'+d'6

Any relatively permment clunge in behaviours resulting torn ereeriane is popululy known as
(a) Acquisition O) Lraming
(c) Conditioning (d) Response
)4frr€ A ddi EF ffi lYe 3-66r3rd Hsrfi ufu{€6 )iH & 'f ilE}?{r #er t:

(a) dgtcFldfrIrH
(c) g}?r'5-atqlTu

(a) qfoe*es'
(c) ,tl0--d6-Jr

(a) H-_d-d-J

(c) )t{r€:t

(a) st-x'a trg
(c) Ha-*ds'f€s

O) ffifrr+ne'
(d) $e S a's e'

O) frtfs
(d) VEfufubr

(b) blBHqrgdrF€
(d) rrr.sHftDft6Fs

O) r"o--dg-Jr

(d) uftkl'ire

133. Which of the following has least to do with motivation systern ?
(a) Need (b) Drive
(c) Habit (d) Motivate
}6i €Bh{rf€g f*s e' tsg.r6 iSed aro 4€ ufa&€'t'€TA

O) +d6'
(d) tJH'-dd

A person's perception ofhidher own personality trait is reflected in his
(a) Self-esteem O) Self-concept
(c) Self-efficiency (d) Self-regard
fud f€b{€l fr eEe }xnE fErdastJ€ d-r€' E e }flog$ ye$ A @

135. Which of the following is not one of the big five personality features ?
(a) Submissiveness O) Agreeableness
(c) Extraversion (d) Neuroticism
ta' f€fs}?{tft€ fud5'rifrE3 f€,rrdft-<lHfEs Fd fitrt
(a) Emus'
(c) ftEEu-d-S

(a)

(c)
O) frltfr
(d) ir3

2t'B

136. Which of the following is beyond the scope of discussion of health ?
(a) Hygiene O) Disease
(c) Deformity (d) Death
# f€tsflt f€i'kdr'fros a fss.d-ez€ t u-rd +ut t

uidr f€fdrrrrr
diltE r
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137. Health is primarily a responsibility of the ,:,
(a) Community (b) Individual
(c) State (d) Parents

tutrr tieB *d 'l ftil€r$ t
(a) F}['H€I O) fil-d$S
(c) qrfi S (d) llr3r fir3r A

13t. Which of the following are chemically known as lipids ?
. (a) Fat O) Sugar

(c) Candies (d) Amino'acids
36 f€fuD{t f€€. fdg d 

.frnrd-fr' t +d '3 rrfr}r{r nE A ?

' (a) €-d* O) riild
(c) flf&rrr+dm (d) )ffi;frfur

139. Complete combustion of I gn ofcarbohydrates in the body yield
(a) 10.4 k.cal O) 6.8 k.cal
(c) 4.2kcn1 (d) 7.6 k.cal
Ffid ffr l dr){ard*dda-cer lrf,6 rrs6 t-e'-ds t
(a) 10.4 k.cal O) 6.8 k.cd
(c) 4.2k.cal (d) 7.6k.cal

140. Normally human being rcquire carbohydrate, proteins and fab in the p,roportion of
(a) 4:2:r O) 7:2:r
(c) 3:l:l (d) 4:r:r. Fqril6*sffacrtarffiiz,qf6tt{3ud*Afu)rl6;rjefeb**d*A
(a) 4:2:r O) 7:2:r
(c) 3:l:l (d) 4:l:l

l4l. Name the t1rye of protein in hemoglobin is
(a) Hormone (b) Transport
(c) Contractile (d) Struch.ral

@'fr,fA6Sfdn{er6D{di
(a) u'-df6 01 tmer-*rf

(c) Eq-r6 (d) €'g'dB

142. An incentive essentially is a
(a) Reward O) Drive
(c) Punishrnent (d) Condition

fas' u.<ra gu 616 a fr
(a) U-drdrd (b) mlH
(c) +J (d) drsB

143. The rate/speed at which physical activity is petformed is known as
(a) Work load O) Exercise volume
(c) Ioad stimulus (d) Intensity
e-ffdr* ftF '3 Fd-dd fdfdrrf. er frErl?f *Jr s'e' t, ao'9* t :

. (a) A€iI Ero O) dFiE' uf&tr

(c) srdBaFrda (d) *sd-J'
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144. Freque'ncy of stimulus in loading is called
(a) Viscosity O) D€nsity
(c) - Connectivity (d) Specificity
tdter i€g gtr trc eI glsdJ' *orrEr a r

\:

The distance covered in Marathon Race is
(a) 40.250 km O) 42.000 km(c) 42.195km (d) 43.200km
Marathon Race Es sff Tsd ii* 0 z:'

(a) g,af'u

(c) fd-dr

(a) IitrJ'
(c) S{dEq-Jr

(a) F-+d l1d fetadt ftr
(c) iB)rt3d'Hfdu

(a) *o,rffi
(c) d-*

(a) HIFEf
(c) fffica'

(b) uf€:rr

(d) HtiFeJr

2 +4 udf
6+8irc}

O) 6+5J'
(d) Tfi1fd6-Jr

O) f6_+€"?rSdamf+s
(d) x'tfrarakreu+fYe

O) ff-d-d

(d) ErFazErg

gledet s
Fr;4Td -ciffir fi{qrJ

(a) .10.250 km(c) 42.195km
O) 42.000 km
(d) 43.200km

The spam oftransitional perbd of sports training should be more than
(a) I to 3 weeks O) 2 to 4 weeks
(c) 4 to 6 weeks (d) 6 to 8 weeks
+d fu{s's n nr.efr am S rffi fsn + iq i$ s'ifi$ t :

(a) I +3u63
(c) 4+60-63

147. Which of the following is not used as yard stick for the selection of a researctr problem ?
(a) Feasibility O) Novelty(c) Availabiliw (d) Reasonabiliw
ffi FDifirh{r * sE FS tH'} t +d '3 t6t fefu,r{r ffr. fdre'.1idr Ffr iis

o)
(d)

14t. Individual differances among people exist in
(a) Body and mind O) Skill and ability
(c). 

^Jhgeht 
and u"$oo "_ (d) All personality variables

Fdf rftt r€'fl6FlitB mkl irE ir6

149. In which sport do individual differences make least impact on leaming skills of 0r8t sport ?
(a) Archery O) Soccer
(c) Hockey (d) Basketball
fqs ts f+s f€xrastde xfrro gF +r e *F6 fi{'r€ 93 ft.CrsH 15sr€ r€e d6 ?

Which of the following reflects th€ idea that we like poople who like us ?
(a) Simitarity - O) Recifiroci-ty of feelings(c) Proximitv (d) Social exchanee theory
# Bt6rnr f€€ fu€'fgg f€'d Vtsffi:r€'a fd )?ffr fu e'-sdA d'ftrdi H'3
sofrus ?

o)
(d)
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